Easter Word Problems  [image: image1.wmf]
Remember to underline the important bits first and to decide what operation to do!   
    (not this sort of operation!!)  [image: image2.jpg]



1. The post office is selling eggs for £ 1.50 each or £4.00 for 3.  Which is better value and why?

2. 100g of chocolate is needed to make 1 small egg.  A large egg needs 2 times this amount.  How much chocolate is needed for 2 large and 2 small eggs?

3. A packet of mini eggs contains 22 eggs.  There are 44 children in Y5.  How many packets should Mrs Rodger buy so that each child gets 3 eggs each?
4. How much would these eggs be with 50% off? 

Mars: £ 4.80       Nemo: £2.60    Ferrero: £ 6. 50
Now make up some Easter problems for your friends to solve!!                    
